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1A S R 2259 4,628,483| 3,437,809/ 1,190,674
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(AEA_1F) ARSI a0 e ¢
2,360,000 = 17}l = 2,360,000
(AEA_1F) gD egE50 A9 1 19,250,000
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1,360,000¢) = 17§ = 1,360,000
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’ 2. 71Ekg-Fol A5 500 500 0
171833 9= 500 500 0
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2. A4 605,241 684,055 -78,814
1. R EREF9 600,341 679,155 -78,814
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2. 71ekr 4,300 4,300 0
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1.71et+ % 4,300 4,300 0
3.uAY Bx 9 s} 35,490 2,940 32,550
1. 084973} 2,900 1,900 1,000
1474 1,200 600 600
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ol Hk 202413 07¢ 169 12A] 09% 53% 9 BEAAAE WS A S s




202433

of AR F713] (ch9l 1)
o e | R A7) 2(90)
49w | An Avgs  gagqus | S Rt g
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2. A QAL 7 E AN 1,020 1,020 0
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1. A EAH] 630 0 630 (3 BH_15)# 3 %18 ¢ 630,000 1 3L= 630,000
2. G EA /WG AR} B & 839,885 633,808 206,077
1.52 #e 519,829| 410,670 109,159
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4. 727 g2 600 600 0
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5.0 A Q17w 4,480 1,000 3,480
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gi%‘xd_ﬁ)qﬁﬂﬂ?du] ©2,980,0009) 1 2.980,000

2,715 B 232,741 171,682 61,059

1.7]15AH- < 232,741| 171,682 61,059
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2. AT EE 215,316| 214,650 666
1.738s 24,000 24,000 0
1.09H] 2,000 2,000 0
2. S| 22,000 22,000 0
2. etk 16,006 21,420 -5,414
1.09m) 906 1,620 -714|Q1& WA eI Y] 1 714,000 = -714,000
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7. 8 AFTHHAY 19,250 0 19,250
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1. shA 52 1) 500 500 0
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1. 059N 3,000 3,000 0
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1. A& 330 330 0
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2.7 1877 F9) 2 e 6,880 6,880 0

1. 4 ¥kEgH 3,080 3,080 0

2. 1FE TG 3,800 3,800 0

4,350 FhA 22,900 17,900 5,000

1. 25873744 22,900 17,900 5,000

1.PCT4 7,400 7,400 0

1955750 7,400 7,400 0

2. A gANA 15,500 10,500 5,000
19155750 15,500 10,500 5,000 AFE A 250,0009%20 = 5,000,000

hal Anke- 159,031 146,734 12,297

1.3t 4 26,440 25,840 600

1. 547889 26,440 25,840 600

1. w7gA e 6,420 6,420 0

1. dnkpgn) 100 100 0

2.o9H] 720 720 0

3.4 u ]2 2,600 2,600 0

4. AANFH T AN 3,000 3,000 0

2. 34489 3,260 3,260 0

1.9 Rk=8-H] 740 740 0

27T 8T 360 360 0
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1. g RkEgH 2,000 2,000 0
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1.8 Al A ] 6% 131,091| 119,394 11,697
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4718bgEew 7,501 7,501 0
2. A A He 89 12,858 12,858 0
1. 4Rk=8-] 12,858 12,858 0
3. A ANt 55,597 46,900 8,697
1. 481 55,097| 46,400 8,697 | eI H¥ == : 5,000,000 = 5,000,000
ANAFA TR AEFE 697,000 = 697,000
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FEEEYEHRS 1,000,000 = 1,000,000
2. 71 EpAAH ] S 500 500 0
4.3 e 7,770 4,770 3,000
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AR E 0 1,000,000 = 1,000,000
5.3 7 6,218 6,218 0
1. dukgn) 6,218 6,218 0
3.3 e #e 1,500 1,500 0
1.3 g9 d3e4d 300 300 0
1.8 -4 91 132 300 300 0
1.99n) 100 100 0
2. 4Rk Fx0] 200 200 0
2.3 Yy 1,200 1,200 0
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1. 4981 100 100 0
2. W] 520 100 100 0
2. 815 1 8}l o] 84 3} 1,000 1,000 0
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